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Either, entirely through authenticating the w3, etc.

OVERVIEW

X701 27 ruled that if the m°%w said 1°¥17 anmi °192 and there are two witnesses who
authenticate the other 7V, nevertheless it is 2109, because V37 2122 1712 WX or 1713 N
0°non NIPN2.

mooin replies to an anticipated difficulty:
— PYTIRD PNODIVPNN TEINN NTON 29 22) (3,197 vy NP 7992 939120 '¥aT NI *9Y

According to what the X713 initially wanted to say in the first 25 regarding 29
X701 who required the saying of 1"521 1"53 when bringing a 3 from 120%UPR to
DTN, but not from PWIIN to NODVPR, that the reason for this ruling is -
— Yy PRI PRY %99 92051
Because X701 27 maintains that the requirement of saying 1"1192 is because of R
2w 9R%P3, M9 responds -
$NYY AYYIT YN HNOINN DY DYN DVWA 99N NINT 919919Y NIIN
We can say that here (where X701 27 says 1@ 7V N2°Nn 29 1P7Vn 22w “DX) we are
discussing a case where the two 2°7v are testifying that the second 7¥ signed

ﬂ?:tl?’?, therefore the only reason why it is 2105 (according to X70r 27) is because V37 0P 1210 W
0.

SUMMARY
0°7°vn 071w can mean they testify that the 0>7v signed the mnw? va.

THINKING IT OVER

According to nM9oIN explanation in X701 27 (that they are testifying that it was
signed nnw?), how are we to understand what X701 27 said "7 01°p2 1912 W'; what
is the meaning of a7 avp?’

' The people of PwTIR were nnwh PRP3, while the people of 1190°vPR were not 7w PR°Pa, therefore 191 was
required when bringing a v3 from N90°VPXR (since they are not nw> PR°P2), but not from PwWTIR (since they were
w5 PRopa). The Xna there eventually gives a different explanation.

? The question therefore is of what use is the ovp of the two 27y on the second witness (that they recognize his
signature), for the 0’7y are not testifying whether it was signed fw>, which X701 27 requires.

? See X5 MR 7"O10.
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